Alg II - Summer Packet

Simplify:

+47132
I

[4+1|

=731
l

(B+i)(7-19)

71677

3i(i—2)=

-18

4+3f
4-37

(5+i)(3-1)

(B +i)?

|2 +5i

4-i




Solve:

8+2(x—-5)=14 3(2x+1)=6x-7
X —6x+10=0 5x* —4x=33
5(x—1)+2x=20 2x* +3x+8=0
2% +5x+3=0 X +2x+7=0

2%° +x=16 x2+4x+13=0




Divide by long or synthetic division:

— x’ —64
x—3>2x —x"+7x+2 4
List the PRR, Graph & Solve:
2x° —10x* +9x—4=0 X —7x* +14x—8=0
2 +8x% +11x—-20=0 x*—x3—-x2—-x-2=0

6x° +17x* —5x—6=0 2 +9x% +26x+24=0




Find the sum & product of the roots:
2% +5x~7=0 x> +6x—-8=0

X +Tx+2=0 3x* —=5x+3=0

Write the quadratic equations with roots of:

2

{345, } {5-2i,__}

{9,9) {7+43,__}

o9 B




Evaluate Exactly:
-3

1 =3
814 = 162 = 92 =
1 =1 =3
273 = 1002 = 83 =

125748 = 642/3 = 25-1/2 —
Find x by hand:
log 125=3 log, 49 =x log, x =8
1
log, 27 =x log,—=x log, x=-2
25
logx=-3 log, 9=2 log; (2x+1)=4
log, 4=x log,16 =2x -1 logx64=§

8

log x +1log(x—1) =1log30 log, 16=x
8




log, x =3 log 64=3 logs—=x

1

2x+1 1

10g0.001 = x 277 =3 logy - =x

x+ 1

6" =216 log; - =x log 32=5
x—1 1 4

log,1=x 9 :E logx81=—3—

Write as a single logarithm:

2log3+3log5= 3log2—log9= i_mgm:

2log3+3log2= 5log2—2log5= 2log4 =

log7 +log3= log20-1log10= Inx+lny-Inx=
oo 02

2log7 = 5 08777 3Inx—2Iny—Inx=




Solve (to the nearest hundredth):

=13 8" =213

3 =17 57 =49
T =13 13" =5
11"% =18 6275 = 123
T =12 4771 =15

52-% =11 GRrY = 37




Find the determinant: (first by hand and then check on the calculator)

Solve for x & y using RREF on calc:

3x+2y=7
S5x-y=4

S5x+3y=8
Tx—4y=10

2x+5y=9
Sx—2y=7

p— (D et
[
N D N

N O =
p—

2x+4y+z=0
3x-y+2z=-1
x+6y-3z=17

x+2y-3z=11
2x+y-2z=9
4x+3y+z=16




Solve:

13 ——x -5

2x% +9x+4>0

|2x-5|=7

x+21<7

h+3E6

x> =10x+25>0

2% +7x+3<0

X +6x+9<0

3lx—5|=6

[2x—5|>7

3-2x|>11




Write the equation of the circle with:

Center: (7,5) & radius =9 Center: (0,—-3) & radius = 2V3

Find the center & radius, and graph:

(x+1)2+(y—3)2=16 (x—3)2+y2=36

4y +2x+dy—4=0 X +y*=12x=0

x*+y*—6x+4y+12=0 ¥ +y*+10x-2y-10=0
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Solve:
8+2(x-5)=14

X=§

x2 —~6x+10=0

(N

= ey

S(x—1)+2x=20

3(2x+1)=6x-7

No Sol.

5x* —4x=33

2x* +3x+8=0
- -3+ {55
o TH = M

4

X +2x+7=0

-1+ i{0

x?+4x+13=0

—2+ A\




Divide by long or synthetic division:

— x> —64
x—3>2x x4+ Tx+2 '
2 8 2
2% 45y + 22+ — X7+l
X-3
List the PRR, Graph & Solve:
2x* —10x*+9x—-4=0 X =Tx* +14x-8=0
)(c "\) H:._..L X= \)2\4
2
x +8x +11x—20=0 x*—x3—x2—x-2=0
on = X
X= 17475 b= hdy =1
6x° +17x* —=5x—6=0 X +9x° +26x+24=0

e =@ & i T
X; 5)3)0'2 X-— Q, %l L+




Find the sum & product of the roots:

2%* +5x-7=0 ¥ +6x—8=0
-5 v

S= 3 Y= 7/2 S= -l P=-5
¥ +Tx+2=0 3x* —5x+3=0

8= =d P: z 8 = 5)?) P =\

Write the quadratic equations with roots of:

XQ" Ex¥\1=0 N?- 5y -2=0
{3_\/5,___} {(5-2i,__ }

X>= oy +4=0 X% (0x+29=0
{9,9} {7+\/§,__}

X~ & ¥+ =0 Y-y +4=0




Evaluate Exactly:

81+ = 3

Find x by hand:
log 125=3

r=i
log, 27 =x

=2
X A

logx=-3
!

*= oot

000

log, 4=x

8

-2
X = /3

162 = ==
4
.__]
1002 = _L
|10
642/% =
[ L
log, 49 =x
X=
IOgs‘Zlgzx
X=-2
10g4x9_2
=%
log,16 =2x-1
_ b
= P2

log x +log(x—1) =log30

X= o

-3

92 — _L—-
21

oo L
-7

25712 =

log, x =8
X= 250
log, x=-2

o L
e 5o

log, (2x +l) =4
X =40

2
log, 64 =—
g 3

N\




log; x =3 log 64 =3
We 2T y=4
2x+1 1
log0.001 =x 27 =5
X= -2 X= ~2
6™ =216 10g5~215—=x
=2 X= ~ 2
w1
log,1=x g —57
-1
X=0 X="73
Write as a single logarithm:
2log3+3log5= 3log2—log9=
log 1125 5
! 1093
2log3+3log2= 5log2-2log5=
22
\0g) 12 oy 2%,
log7+log3= log20—logl0=
\09 7\ \0@ Z
1
2log7= 510g79=
l0g 49 l0g, 2

-
X="%/3
log 32=35

X= 4

4

log 81=—
ng 3

 EN

%bg6=
\D@Z
2log4=
\08)“0
Inx+Iny—Inx=
\wf%
3nx—2Iny—Inx=

3
X »




o~

Solve (to the nearest hundredth):

¥=13

X= l. =9

11"* =18
X g, 0 v(lq
7 =12

% = 4,23

32X =11

Xz "O-‘g

8 =213

X: 258
572 =49

X = \ s LS["I
13* =53

Y= 0.0%

62%75 =123

X=3.84

431 =15

X=0.98

93x+2 =17

X = —-02“\’




Find the determinant: (first by hand and then check on the calculator)

3

Solve for x & y using RREF on calc:

3x+2y=17 2x+5y=9
Sx-y=4 5x-2y=17
15 22 (EZD. LY
(75 > 3, 29° 24
5x+3y=8 2x+3y=-14
Tx—4y=10 Xy =2
bZ .(Q—B (“LB’ZB

410 Al

—_— LY
(oo S <o I
N W N

O

=]

2x+4y+z=0
3x-y+2z=-1
x+6y—3z=7

(1,0,-2)

x+2y-3z=11
2x+y-2z=9
4x+3y+z=16

(2.3,




Solve:

]5—%x>—5 2 —10x+25>0
X430 O veo\ #'s
x*—3x210 2x* +7x+3<0
Ne-2 v X 2h -32¥ L%
2x* +9x+4>0 X +6x+9<0
X& ™ or X273 No So!.
l2x-5]=7 3lx— 5| =6
‘= oy -) x="1,%
x+2]<7 2x-5]>7
~Q LY LS x>b ov X &£ -
x+31<6 3-2x]>11




Write the equation of the circle with:

Center: (7,5) & radius =9 Center: (0,—-3) & radius = 2v/3
g 2 y ,
(x-T)" ly-5Y =81 X2+ (Yr3)= (2

Find the center & radius, and graph:

(x+1)" +(y-3)" =16 (x—3)*+y2 =36 _
C" ("136) C:(%,O\
Fe 5 1 V= L
1
¥+ +2x+4y-4=0 ¥+ -12x=0
2 2 (x )+ T=20L
OV Y+ (g v2¥ =9 - y

C=E1,-2) =3 (= (0 Y=L

& 3

W4+ yt—6x+4y+12=0 243 +105—2y-10=0
2
(x+5)+ (tj—ﬁ = 3l
¢ = ("5”3

(x-2Y4 (y 12) = |
C': (6 )'2-)
r= |

=




